1.7 Variables and Algebraic Expressions
Evaluate each expression for the given value of the variable.
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1-8 Transiate Words into Math
Write each phrase as an algebraic expression,

9. the product of & number and 7 A 10. add 25 to & number 2+ 25

11. & number decreased by 6 £ — 8 12. the quotient of a number and 5 &+ 8

. 3 times a number .30, 14. take away 14 from a number & = 34
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. Barah was 116 om tall when she started to measwre her
height. She grows an average of 3 om each month,
White an algebraic expression o show Saral's haight P
after i months. 116 + 38

18 Simplifving Algebraic Expressions
Simplify each expression.
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~3h + 18 + 18g §r° + 88

22. Write and sxpression for the perimeter
of the figure. Then simplity the expression.
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